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Friedman’s Test / Two Way Analysis of Variance by Ranks
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https://en.wikipedia.org/wiki/Milton_Friedman
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k=3 k=4 k=3 k=6
n o= 5% 1% o= 5% 1% a=5% 1% o= 5% 1%
2 - - 6.000 - 7.600 8,000 9.143 9.71
3 6.000 - 7400  9.000 8533 1013 9.857  11.76
4 6,500  8.000 7.800  9.600 8.800 11.20 10.29 12.71
5 6,400  8.400 7.800  9.960 8.960 11.68 10.49 13.23
b 7.000  9.000 7.600  10.20 9.067 1187 10.57 13.62
7 7.143  8.857 7.800  10.54 9.143 1211 10.67 13.86
8 6.250  9.000 7.650  10.50 9.200 13.20 10.71 14.00
9 6.222  9.556 7.667  10.73 0.244 1244 10.78 14.14
10 6,200 9.600 7.680  10.68 9.280 1248 10.80 14.23
11 0,545  9.455 7.691  10.75 9.309 12,58 10.84 14.32
12 6,500 9.500 7.700  10.80 9.333 12,60 10.86 14,38
13 6.615  9.385 7.800  10.85 9.35¢ 12,68 10.89 14.45
14 6,143  9.143 7714 10.89 9371 12,74 10.90 14.49
15 6,400 8,933 7.720  10.92 9.387  12.80 10.92 14.54
16 6,500  9.375 7.800  10.95 9400 12.80 10.96 14.57
17 6.118  9.294 7.800  10.05 9412 1285 10.95 14.61
18 6,333  9.000 7.733 1093 9422 1289 10.95 14.63
19 6421  9.579 7.863  11.02 0432 12.88 11.00 14.67
20 6,300 9.300 7.800 1110 9400 1292 11.00 14.60
o 5991  9.210 7815 1134 9488 13.28 11.07 15.09

Source: Neave, H.R. and P.L.B. Worthington, 1988, Distribution-Free Tests. London: Unwin Hyman Ltd. p. 395.



